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Note:	 The question paper is divided into three sections A, B and C. Write 
answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 1 = 7
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question delimit 
your answer in one word, one sentence or maximum up to 30 
words. Each question carries 1 mark.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$ H$m h¡&

1)	 (i)	 Write the electronic configuration of Cr(24) and Cu(29).
	 	 Cr(24)  Ed§ Cu(29) H$m Bbo³Q´>m°{ZH$ {dÝ¶mg {b{IE&
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	 (ii)	 Explain metal-metal bonding.
		  YmVw-YmVw ~ÝYZ g‘PmBE&

	 (iii)	 What is meant by self - reduction? Explain giving an example.
		  ñd-AnM¶Z go ³¶m VmËn¶© h¢? EH$ CXmhaU XoH$a ñnîQ> H$s{OE&

	 (iv)	 What is meant by ambidentate ligand?
		  C^¶XÝVwH$ {bJ¡ÊS> go ³¶m VmËn¶© h¢?

	 (v)	 What are inner transition elements?
		  AÝVa-g§H«$‘U VËd {H$Ýh§o H$hVo h¢?

	 (vi)	 What are super heavy elements?
		  A{V^mar VËd ³¶m h¡?

	 (vii)	Write a reaction in which water acts as a base.
		  EH$ A{^{H«$¶m {b{IE {Og‘| Ob jma H$s ^m§{V ì¶dhma H$aVm hm|&

	 Section - B	 4 × 3.5 = 14
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not exceed 
200 words. Each question carries 3.5 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 3.5 A§H$m| H$m h¡&

2)	 Explain reasons of the following: / {ZåZ Ho$ H$maU g‘PmBE&
	 (i)	 Mostly transition metal ions are paramagnetic 
		  A{YH$Va g§H«$‘U YmVw Am¶Z AZwMwå~H$s¶ hmoVo h¢&
	 (ii)	 Transition metals and their compounds are good catalysts.
		  g§H«$‘U YmVw Ed§ CZHo$ ¶m¡{JH$ AÀN>o CËàoaH$ h¢&
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3)	 Write short note on Latimer diagram and its utility.
	 b¡Q>r‘a AmaoI Ed§ BZH$s Cn¶mo{JVm na g§{jßV {Q>ßnUr {b{IE&

4)	 Write the main postulates of Werner’s theory.
	 dZ©a {gÕmÝV Ho$ à‘wI A{^J«hrV {b{IE&

5)	 Write main differences between lanthenides and actinides?
	 b¡ÝWoZmB‹S>mo VWm Eop³Q>ZmBS>mo ‘| à‘wI AÝVa {b{IE&

6)	 Explain Lux-Flood concept with example.
	 b³g-âbS> AdYmaUm H$mo CXmhaU g{hV g‘PmBE&

7)	 How many types of solvents are there on the basis of their behaviour 
towards protons?

	 àmoQ>mob Ho$ à{V CZHo$ ì¶dhma Ho$ AmYma na {dbm¶H$ {H$VZo àH$ma Ho$ hmoVo 
h¡?

8)	 Discuss optical isomerism in octahedral complexes with suitable 
examples?

	 AîQ>’$bH$s¶ O{Q>bm| ‘| àH$m{eH$ g‘md¶dVm CXmhaU g{hV g‘PmBE&

9)	 Explain Why? / g‘PmBE ³¶m|?
	 (i)	 Europium shows + 2 oxidation state 
		  ¶yamo{n¶‘ + 2 Am°³grH$aU AdñWm Xem©Vm h¢&
	 (ii)	 Compounds of Ce(IV) are stable. 
		  Ce(IV) Ho$ ¶m¡{JH$ ñWm¶r hmoV| h¢&

	 Section - C	 2 × 7 = 14
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 7 
marks.
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IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡& 

10)	 Mostly transition metal compounds are coloured Comment. How is 
crystal field theory applied to explain the colour. Discuss various 
factors affecting the colour.

	 A{YH$V ¶m g§H«$‘U YmVwAm| Ho$ ¶m¡{JH$ a§JrZ hmoVo h¡& ì¶m»¶m H$s{OE BZ 
a§Jm| H$mo g‘PZo ‘| {H«$ñQ>b joÌ {gÕmÝV {H$g àH$ma à¶moJ {H$¶m OmVm 
h¢? a§Jmo H$mo à^m{dV H$aZo dmbo H$maH$mo H$s {ddoMZm H$s{OE&

11)	 Discuss the valence bond theory for complex compounds. How 
does this theory explain the geometry and magnetic properties of 
K4[Fe(CN)6]? What are the limitations of this theory?

	 g§Hw$b ¶m¡{JH$m§o Ho$ {bE g§¶moOH$Vm ~ÝY {gÕmÝV H$s {ddoMZm H$s{OE& 
¶h {gÕmÝV K4[Fe(CN)6] H$s Á¶m{‘{V d Mwå~H$s¶ JwUm| H$s {H$g àH$ma 
ì¶m»¶m H$aVm h¢? Bg {gÕmÝV H$s gr‘mE± ³¶m h¢?

12)	 Explain the Bronsted concept of acids and bases. How is it superior 
to Arrhenius concept? Write its limitations.

	 Aåb-jma H$s ~«m°ÝñQ>oS> YmaUm H$mo g‘PmBE& ¶h YmaUm Amhu{Z¶g 
YmaUm go {H$g àH$ma loîR> h¢? BgH$s gr‘mE± {b{IE&

13)	 Write short notes on the following:
	 {ZåZ{b{IV na g§{jßV {Q>ßn{U¶m± {b{IE&
	 (i)	 Metal ammonia solution 
		  YmVw- A‘mo{Z¶m {db¶Z
	 (ii)	 Levelling and Differentiating solvents 
		  g‘ Am¡a {df‘ Am¶VZ {dbm¶H$


